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Read the the following extract carefully and answer the questions by
choosing correct answer. Question No 26 to 30 -

The manager of a well known firm was interviewing applicants for the
post of night watchman he had advertised. He was very hard to please and
always found something wrong with each man - one had long hair, another
small eyes, a third too thin, a fourth very fat and another too tall.

Among the applicants interviewed by the manager for the post was one
Ramkishan. He watched all this as he sat in the varandah patiently waiting for
his turn to be interviewed. He resolved to be prepared for anything. When his
turn came all went well. The manager found nothing wrong with his
appearance, size or constitution. He was tall and strong that the manager was
really pleased to see such a well built young man.

‘Is your health sound? Said the manager at Jast. ‘No sir’, replied
Ramkishan. ‘Not quite, I suffer from one serious complaint’. ‘What is that?”’
asked the manager sharply. ‘Sleeplessness.’

The manager was so pleased with the answer and appointed him.

Q.No.26 : The passage is about --—--
(A) Appointment of a (B) Recruitment of a night
manager. guard
(C) The character of the (D) Recruitment of a Peon
manager.
Q.No.27 : The manager was ‘ hard to please’ means that he was
(A) Difficult to satisfy (B) Used to complain without
reason
(C) Very unkind. (D) Hard hartened




Q. No.28 : The passage shows -----

(A) The failure of the (B) The cleverness of
manager. Ramkishan.
(C) Theefficiency of the (D) The bad health of
manager. Ramkishan
Q.No.29 : ‘Notquite’ in the context means
(A) Very well (B) Not completely
(C) some what. (D) Notso
Q.No.30 : ‘Sleeplessness’ could be linked to
(A) The applicant’s (B) The foolishness of an
illness. applicant.
(C) The job as night (D) The manager’s
watchman. foolishness

Directions (Q.No. 31 — 32) For each of the following capitalised word,
four words or phrases are given. Of which only one is synonymous with the
given word. Select the synonym.

Q.No.31 : DUBIOUS
(A) Clear. (B) Undoubtedly
(C) Hesitant (D) Doubtful
Q.No.32 : ABSTAIN
(A) Stay ) (B) Tempt
(C) Refrain. (D) Pardon.

Directions (Q 33 — 34) Choose the correct antonym from the choices
for each of the capitalised word
Q.No.33 : INDIFFERENT .

{A) Curious (B) Varied

(C) Alike (D)  Uniform
Q. No.34 : TIDY

(A) Wise (B) Diplomatic

(C) Prudent. (D) Careless
Q.No.35 : Which of the following pairs is correctly matched ?

(A) Index - Indexes. (B) Radius - Radiuses

(C) Formula - Formulae (D) Data - Datas
Q.No.36 : His directions mislead us, we did not know which

of the two roads to take.

(A) complicated (B) ambiguous

(C) narrow (D) fantastic.




The passengers were afraid but the captain them that
there was no danger.

(A) promised (B) assured

(C) advised (D) counseled

I shall take revenge you.

(A) from (B) with

(C) on (D) at

A person who speaks many languages

(A) Linguist (B) Monolingual
(C) Polyglot (D) Bilingual

The following sentence contains some error indicate the part
having it. Which is that?
We have received no informations from the headquarters.

(A) We (B) have received
(C) no informations (D) from the headquarters.
Choose correct alternative.
He is weak to carry the heavy box.
(A) very (B) much
(C) so (D) too

Select the most suitable word

The aeroplane was ready to take
(A) off (B) over
(C) up (D) away
Fill the correct alternative.

He is well versed in the rule of

(A) gramer (B) grammar

(C) grammer (D) garammar

Choose the correct meaning : “Face the music”

(A) work overtime. (B) sing a song.

(C) hear the music. (D) bear the consequences.

Out of the alternatives given below choose the correct prefix.
‘responsible’

(A) non (B) un

(C) ir (D) dis

The antonym of the word ‘folly’ is —

(A) Final (B) Enemy
(C) Previous (D) wisdom
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Complete the following sentence with correct idiom from the
given alternatives.

Ram is a very practical, sensible and boy.
(A) hard headed (B) level headed
(C) hot headed (D)  square headed
Complete the following sentence by choosing the correct
alternative,

If T had known their language
(A) Twould have asked them (B) 1 will have asked them

many questions. many questions.
(C) Thad asked them many (D) T asked them many
questions questions.
I do not have money
(A) little (B) any
(C) few (D) many

Which of the following words is the most appropriate meaning
of ‘diversity’?

(A) small city (B) wvariety

(C) small university (D) todive
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